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QUESTION 1

Given the following decision table: 

Which of the following test cases and expected results is VALID? 

A. 23 year old in insurance class A Premium is ?0 and excess is ?,500. 

B. 51 year old in insurance class C Premium is ?0 and excess is ?00. 

C. 31 year old in insurance class B Premium is ?0 and excess is ?,500. 

D. 43 year old in insurance class C Premium is ?0 and excess is ?,000 

Correct Answer: A 

 

 

QUESTION 2

Given the following sample of pseudo code: 

Which of the following test cases would achieve 100% statement coverage? 

A. A = 5, B = 10 and C = 2 

B. A = 10, B = 10 and C = 10 

C. A = 10, B =5 and C = 2 
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D. A = 2, B= 5 and C = 10 

Correct Answer: C 

 

 

QUESTION 3

Given the following state transition diagram: 

Which of the test cases below will cover the following series of state transitions? 

SS S1 S2 S1 S2 ES 

A. A, B, E, B, F 

B. A, B, C, D 

C. A, B, E, B, C, D 

D. A, B, F 

Correct Answer: A 

 

 

QUESTION 4

Which of the following would be MOST USEFUL in estimating the amount of re-testing and regression testing likely to
be required? 

a) The purchase of an automated test execution tool. 

b) Time allocated for acceptance testing. 

c) Metrics from previous similar projects. 

d) Impact analysis. 

A. a and b 

B. b and c 
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C. a and d 

D. c and d 

Correct Answer: D 

 

 

QUESTION 5

From a Testing perspective, what are the MAIN purposes of Configuration Management? 

a) Identifying the version of software under test. 

b) Controlling the version of testware items. 

c) Developing new testware items. 

d) Tracking changes to testware items. 

e) Analysing the need for new testware items. 

A. b, d and e 

B. b, c and d 

C. a, b and d 

D. a, c and e 

Correct Answer: C 
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